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SECTION - A
Analytical Ability
Faag Fdyss
Questions : 75 Marks : 75
By 75 Sndnes:T5

(i) Data Sufficiency
St Borgad

Note: In questions numbered 1 to 20, a question is followed by da
statements labelled as I and 11. You must decide whether
statements are sufficient to answer the questions.
appropriate choice from (1) 1o (4) as per the following

{a) Mark choicc (1) if the statement I aloneds sufficient €
(bj Mark choice (2} if the statement 11 al
{t) Mark choice (3) if both the staleme

LS
question but neither statement alone % :

(d) Mark chaice (4) if both the s d [I together are not sulfficient to
answer the guestion and addic required.

g is cient® answer the question.

sufficient to answer the

R

LSS 3 1 208 20 HEH =S ¢ b w4, o0 308 11T 3R hes o
PR RGO, St Homly HASERHow,

ey, adyols Sogse sheotr Son

ol it SgPcMmE. PénS [Bob EriseE drjerer GHAAUD
(1) 008 () W% HOons e Jons Sabod :

SN Siargrdo adyoss (BRI | dd Sorgluond D waraw
e ffodcd.
B Shrero afodd @i 1, I S Sorgdivon wothd®
@ D Ere Sogho S48 D e (3) e LEoBod.
@ @HS Srgde BEyos B&aren 1 T Sob Srae 207R0 5%
w5 Seroko wBhBiend D wares (4) o Hhodod.
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L. Ifaisaninteger and 100 <a < 200, what is the value of u ?
100 <2< 200 s a Ppgrogiband, a Do Jos?

L. Whenais divided by 10, the remainder is 5.
a® 10 & eAodmr, Tk 5.
L tha 4 is divided by 8, the remainderis 3.
4 8 & erRovm, 305 3. tf

2. Whatis the value of () ?
8 Desd Jok 7
. §in*0-1=0
;L '9&76 <R

3. Whatis the area of an cquilateral triangle 7

E ()

28 B erd (Sehuih Brogdod ? ' \ ®

L Each angle of the triangle is 60°.
(Bebos®D 58 Sso 60°.

1. The height of the triangle is 12 em. 4

L (@bEd 3 12 ok,
4. If wand b are real numbers, “:hm@ +b3?
&7

a,b &0 9% Sowguond, 4 +

I #+b2=0
I a+b=4 2 1

Isal eyt

on-negative real numbers.
y Dss % Somgen. 3
3 P.T1.0.
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2

What is the rate per meire length of the fencing of the rectangular lield *
¥ 8% SESFsth Jlems SoB Fohers al Db LoDE: 2o wwd T

1. Thearea of the ficld is 10,000 sq. meires.
8% Srrego 10,000 5.2,

1. The total cost [or fencing the tield is Rs. 1,00,000,
Elet8 500 FodarE Judo ol &, 1,00,000. L’.

7. Whatis the value of the non-negative intoger u ?

&REE §rgroo a Do Jo 7
I 3"divides 33B80.
13886 & 3* 2 ACO.

I T*divides 2058.
2058 & 74 e AOE.

8. Isthe sct A contained in the set of prime numbers 7

4
DS A, serap Lorrg Bonast oo ? \ ) 4
1. Everyelement of A is a positive rcul number,

>

l”‘"( |

A €50 158 Borofin wf 6 ai Doag,

B

LY Ae Jlx eRix=< ':; for all positive integers n|”

A-;;{x'e R | ($8 & Grgroso n B %}
9. Is the real number a, positive ? L
o Doy a, sy gl Y
L #¥<i
I a?-5a+6<0

10. TsitaSunday ?

<



11,

13

14.
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The price of which of the mobiic phones A and B is reduced more ?

WBS P A D0a B of E plcs Jnd Shodadoes ?

1. The price of A is reduced by 10%.
A 90 10% $hodudob.

II.  The price of B is reduced by 12%. Lr ’
B »0&% 12% Shodudod.

1f 4, b and ¢ are distinet prime numbers, is a an even pumber ?
a, by wb@i&l e ag {)oqagom:é, ana éomg;u;{:)&om ?
I.  The product of 2, b and ¢ is even.
2, b, ¢ © 920 I8 dowg.
11, The sum of b and ¢ is odd.
| e

b.c & ando 3% Dowg.
[ .

4
Are a, b and ¢ in arithmetic progression ? \ ¢
4, b, ¢ & w08 GAIS® omohe ?

I 5a, 5b snd 5¢ arc in arithmetic progression,
§a. 5b, 5¢ @ wo¥ [{HS® Hanuw.

L. 2a, 3b and 4c are in arithmetic pr
2a. 3b, ¢ @ ©o¥ [FES* Hvmyow

Is n divisible by 720 2
n % 720 ek ? 1
I. n is divisible by 24 an ‘

!

h's‘aiu,ao (SIS

. n=ala+1)}a+2)a 4)a + 5) for some positive imteger a. 2—

=ala+ 1)(a+2Ma+3)a+44a+3).

5 PT.0. l
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16.

17.

18.

19.

20.

L

For intcgersaand b, isa>b ?
Frgrosren u, b o, axb eyHoor ?
1. |al>b

L. |aj=b
.
What is the value of sin 0 2
sin 0 Dewd Des?
“sinB 0 0) ‘
I. Thematix| 2 2 0 |isnotinvertible:
sy
Csinh 007 :
AeBE | 2 2 0 |DSTriw ek
N R S |
1. B lics m the second quadrant,
0 Bo& o H¥a.

Docs the natural number n divide 15n® + 8n +6 7
150% 4 8n + 6 & Sves Dopg n e usle ?
1L n divides 10

10 & n gra¥an.
1L ndivides 3!

31L& n oraie.

What is Z A in the triang]@
(Behuo ABC & A;%

B=1{1,2.3,4,5)
={7.8,9, 10}

L 4
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(i) Problem Solving (Marks : 55)
(a) Sequence and Series (Marks : 25)
Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow
4 definite patlern is given. Euch question has a blank space. This has (o be filled by the
correet answer from the four given options to complete the sequence without breaking
the pattern. _ :
B85 1 21 % South Lo I8 Loads HIH do 198 HHE"Ee 3T Sopges I, wEoren
w0 a8 (Shoghond Jobird) Sedaon. B8 @ZHSWr, of 980 5
e @i?gs'o S0 BB soud waaRy &@lg‘a, B QHIrUs 2
Soom Jroowd.
21. 4,7,19,67, 127
(1) los (2) 148 \jz( 259 4) 617
38 24 35
% T '26'37 .
9 1 13 15
AT i 15 ® 35 W
23. 24\5.9+4f5,_ [161+71f5
(M) 184165 G 38+ITE (3 64452 72+ 645
24. ARBD, EFH, » MNP, QRT
{1) GHI (2) UK . (4} JKM
25. 991201 L =63
(1 36 48 # 52
26. T W, Z.€; ol
(1) D 2) E F (4 H
‘ 27. 35,10,26,50,122,
(1) 140 (3) 184 {4} 226
2 4
(3) 343 {4) 355
o ISCH
(2) (14,12) () (15,.13) 4) (17,15

7 P.T.O.
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30. BAL EDW, IHA,

(1) NMG (2) MNF
3. . IHN.SRX,CBH

(l) YXE v({ YXD
32. ABC:ZYX:!EFG:

(1) ECB ) DCB
33 25,49, 121,225,

(1) 361 (2) 236
34, 1800 : 1675 :: 30600 :

(3275 (2) 3450
Sl M) b oy PR

1 9o 2y 11

Note : In questions 36 t 45, pick the odd thing out,
Aridd 36 D08 45588 Ko Phed® SoeIs weo

\6) 46

36. (D 35
37. (1) 28 2) 65
8. (1) FIHG {2) KNML
39. (1) 80 (2) 99
40. (1) Bus complexVé)
23 smows)
41, “]) 2T1

(2) C

(2) VEENA

16AL-83
(3) NME ‘6 NMF
(3) XYD (4) YXF
(3) DCA (4) FCE;
‘b({) 529 (4) 676
Vé) 3350 (4) SQ

\0

\.6) 72 91
(3) 0{1) 216
@) VYXW
% 163
Railway station  (4) Aecrodrome
~ BEynan . oo
(3) 2X4 4) 226
(3) Ear Vﬁ) Mouth
) S
(2) 2+3x+6=0
m’) .tz—.x =4 2=1)
@ G Vvi T
(3) MANDOLIN ‘%Z) FLUTE

8
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{b) Data Analysis (Marks : 10}
Note for questions 46 to 50 :
Study the following Pic diagram und sanswer the questions 46 to 50 ;
46 - 50 (S o JodS
\B08 B (Pic) $emTy $OFDOD [Syes 46 - 50 o arDizod.

Prigti
chirges

f )
Autbor's ;w‘"‘"":s\: g

Tayallics

46, I the author's royaltics amount to Rs. 30,000/~ mosg th nting charges, how much

will be the amount for advertisement charges 7
St wine Sod Suowssdy |
JoE ?

(2} Rs. 45,000 @

. dond, HELSO P8

(1) Rs. 60,000 5000 WA Rs. 90,000

47. What is the angle of the sector iscellancous charges ?
288 pdno Dy 8

Bl vﬁ) 79 12! 4y 6°12'

VG 500000  (3) 540000 @) 450,000

9 P.T.O.
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49, The miscellaneous charges amount (o Rs, 10,000 and a total of 13,000 copies of the book are
printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 45 7

B8 wdye 10,000 &r. s, 13,000 Do MBoTTY wBorre. @Ehdnsy 4%
ergfo oraren S6S o, HHED fo 08 el DonoTd ?
Vﬁ) Rs. 40 (2} Rs.36 {3) Rs.52 {4) Rs. 48
§0. If the transporiation charges are reduced by half, then bow much is the saving if t
charges amount ta Rs. 60.000 7
Barere pUnyes Sto 0os:E o8, Bodoli wrw 60,000 & weRd, Jo

o 7
(1) Rs. 15000 (2) Rs.30,000 (3) Rs. 25,000 vﬁ) %
Note for questions 51 to 55 :

In the bar diagram given below, the frequency distribution of wor in § factory 15 given
according 1o the number of dependents they have. Answer wcslions 8 §5Mhasing on the data

given in the bar diagram : *
51- 55 S¥)ols Sl \
¥ goyrdod’ 23 % 20 MWoren, 0P v IEd ToNongud wf i (Bol @b

S0’ ¢ ¥ E hly Jprwdo wizaded
sErdo TRED S0 51-55 o wrdigod.

704
Liferate Workers
66+ s_’_.{m&g ot gt
50
E— lilitorats Workers
44 — UdEog Bae
304
No. of
Workers 204
B R T = s == e oy = B L1112 g
5
. T -
gt apr DS 8 dopg ——>
51. The total rkers in the organization is

@ Lo @0 o Dowg
(1 \’6) 200 (3} 230 (4) 300
52. io dbliterate workers to illiterate workers is

& s, wiEoTeg Dlardie Jng
21:20 (2) 20:21 %&) 21: 19 4 19:21
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53. The number of literate workers with atleast 3 dependents is

B0 Wit Wi BES i, vt o 308 Sowg

(1 30 (2) 55 @) 65 A4y a5 v

54.  The total number of dependents that all the workers have
Sl EeEoR vt 0 Soug
Vi) se (2) 650 31 580 @ 540
55,  What is the percentage of illiterate workers among the totat workers ?
Rl SuardE® ALEoize Téc Jod?
iy s VO 415 (3) 485 @ 525

(¢} Coding and Decoding Qarks :10)
Note for questions 56 to 60 : P

In a code. the n™ lcuer in English alphabet idye to ¥ letter, where
K = 3n + 2(mod 26), 1 < K < 26. For cxumple, thehg” ° I is coded as C,
since 3 X 9 + 2 = 29 = 3(med 26) and C is the third reverse of this provess is
used for decoding. Based on these coding and decodingiproces§es, answer the guestions

S8Eros®l 0 & wfoly, K &

56 to §0.
¥ 3 % e C mm 56 S8

56 - 60 (S ok &S
K = 3n + 2(mod 26), | < K < 26 g
sffomr BG A3, eoriricd 9 :

Q0&5%08 3X9+2 =29 =3mod I St & &8 Totards o,
& Bdoh, & §8of HSabei 6 2o 56-60 o5 aariifgad.

§6. The code word for ICET i3
ICET % &8 $&c

(3} CKOK Vi cka

Vv FULLY (4) PEITY
£5 Hokedas dto
ATD D) STATE (3) STBIE 4) STATF

11 P10
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59. The word coded as BENCU 15
DENCLU i £°5 Sobeds 38c
Vi) RADIO @ DANCE (3} RADIC (4) DELHI
60. The word coded as KUOXYIQD is
KUOXMIQD v §& Sobadd 2o
(1) COMPLEXS M%) COMPUTER (3) COMMENCE (4) COMPLE

Note for questions 61 to 65«

The vowels of the English aiphabet arc arranged alphabetically and among th
vowel is coded as (r + 10" vowel and the last as the first. The consonants of i
are arranged alphabetically and among these consonants, the ' consonanly
consonant and the first as the last, For decoding. the inverse process is fellowed B8Sing on these
coding and dacoding processes, answer questions 61 to 65.

61 - 65 (SEyes Srdd o
20l oSirod’) ednud sfY SHS B
r+ 1) B ednmi, D0 e Twdd QU &
Prosod il éd.;‘cghoé“ eénb,), & Heos
Srend DH0 Seerds 56 Tobod. 3 E‘éoﬁg ,
5‘&05 S0k & Efgoh Bobud werdon x pl @0:... 65 8% Ko L.-.délu
Sorprar e |weokod,

offiost r $ ol
; aoﬁéa wgﬁ ﬁrvé‘b

61, The code word for CRICKET is
CRICKET & 5§ %o

(1) BQOBJAS (2} %) BQORBIIS {4) BQOBJAV

DISPLAYS \6 DISCOVER
63.

TTIQERS 4) ITIQITS

e« {Wed for ENERGY is
v & BE 2de
IMIQHZ (25 IMIQHX (3) TMISEX \44’) IMIQFX

12
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63.

(d)

67.

68,

69.

70.

Which word is coded as QEMFIQ 7
= #5550 QEMFIQ = §8 Sohndod 7
(1) RANGES Vﬁ) RANGER (3} PILGOP 4) SANGES
Date, Time & Arrangement Problems (Marks : 10)
Il the fiest day of a monih is a Sunday, then the date of the Monday that comes the
second Saturday of that month, is.
28 Rod’ s S wbrlo vmd, ¥ S’ Bokd Do K8 STV
Foado gk 36
(1 s 2) 9 () 15 'vﬁ; t
In a teap year, if January first is a Tucsday. then March second of thal ear falfglon
af &y Dobd Yo w84t Anss B8 Lokdardo gowd, u o® B
oS 36 wdky S ©

vﬂ 3 Sunday {(2) Monday (3) Tucsday . aturday

s&T o Fdardo ol ; %o

Fifteen years ago the ages of a mother and her 4 c1c in the ratio 6 ; 1, If the
present sge of the daughter is 20 vears, then the Ze, in vears, after § years from
now, is
13 JoXEyorn |Bodd ¥ 8 Do padines 6 : 1 3BT sovyon.
Srdl Bd Solidy 20 Sobdyoy Hod 5 Joddyore ddad
£ Doy, Doddydiwodt
(1) 40 {2) 45 4y 55
The number of ways of arran 4 men‘and § women alicrnately in a 10w so that the row
begins and ends with a w) i
2¥ LR Bodd 08 ) $0d Do, 58 ags Hye dgg o¥ Hihudh
AoBeEs il ek s:t‘.‘..ﬁﬁa;_)j&‘& @EADAS e Sopg
{ay 280 v 2330 @) 3600
Five persons ¢ VE are sitting around  tahle such that D is in-between A and E, C

is in-between A andB. Then the person sitting belween B and D, is
o5 WA 8B 888 C sodom sdibth Bghes A, B, Q, D, E o4 g
GG, wHPH B & D 8 ey LB $o8

@ ¢ 3) D 4) E

13 . PT.0.
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71.  The number of times that the hours hand and minutes hand of a clock coineide in a day, is
u¥ Bars® o KBorSoSR fove dwer WOk Jdntve dug JSPled
Dodrsins Song

Vi » (2) 23 @) 2 (4) 26

72. A person M starts walking from a point P straight towards East. After walking 100) teet he
turns to left and walks 45 feet straight, He again turns left and walks a distance of gel
straight. Then hc turns (o the left and walks a distance of 45 feel. The distance batween
and P in feet, is

M od g8 o¥ Doty P ol Srdy S SHm BERG0 Wdoy SER.
sdutben SEDE Shard st Kbk J}POH BBR Sy 45 ¢ 5
s8% hio MhSHE 8OA S 60 sdibes LATGE. RN i
aibes®

L 4 v{
(1 60 2) 55 3) 45 v4) @0

73. Poinling to 2 woman, a man said “The son of her o
Haow is the woman related to the man ?

js the brother of my wife".

& .;'.,Igl_,;'.,;, 'l

af Oy D SrHdr of HERD aov oPHEN M =5 SO Sl 0 rl;
é‘d&&”eg&mﬁés@é‘ﬁow
(1) Grand mother
wRpag | eI
(3) Mother-in-law Sister of father-in-law
wEmd swesered TR0
74. The operator * is de t ustion x % y=2x+ y forall real xand y. f 2+ a=u+3;
then the valuc of &

1O¥Y = % x ¥y =20+ y HASY=od' VigloBERun.
¥y D
0 (3 1 ) 4

75. mber.of 3 digit positive integers that leave the semainder 5 when divided by 7, is

Rotddpd 5 & Ao ad) el §'26§we$} 005 S8 Yrgrose

) 141 \é) 129 4) 128
14
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SECTION -B
Mathematical Ability
e2d :b*s:‘ggé
Questions : 75 Marks : 75
e 75 Srdopec: 75
(i)  Arithmetical Ability {Mar )

& Aok
76. 16'-8 +49"= %

m 1 vo 1 & 3 @ O
.. 1 ’s,—-a :
77.
2 2
J . \
4 3
® i @ e e rb (a,,)s

78, IM(8IF = then 4x + §y =

(243}"

81y = m,@wé 45+ 5y =

]
I
]’l EBy S 2 3 2 vé 0

79, lf'gg 10 thenp:g=

(3) 5:9 @ 9:5
@ 1827 @ () @) (124235

15 P.T.0.
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81. The details of investment of three persons X, Y, Z in & common business are given below.
Out of a profit of Rs. 900, the share of X in rupees is

XY, 7 gHheos 28 ardnd avgaudoé‘a Bdnaho DEoTe |Bots maxegron. 900 .
engfod’ X argr Sraroned®.
® %1 =

amount in Rs.
Lo g et | 6000 | 7,000 | 6400

time in months

oo Fued’ 2 | 4 I 3
(1 110 Vv 150 (3) 350 < @)
%2. A wrain running at a speed of 90 kmph takes 20 seconds to cross 150 m.
The length of the train in metres is
Hot: 90 5.0, Ffof &N o oo 150 ib..éré@ & orBod®
20 ok HaE © T PEY B °
v 350 @ 100 @) s 4) 45

83. The least positive infeger that leaves remainders 21
by 36, 48 und 64 is

3 respectively when divided |

16, 48, 64 oI oS Hdd 25, 37, 53 QAT 520 Yrgroko
(1 576 2) 5§74 N4) 565
84. The least integer value of n such th en intcger 1§
54 v
=3 %0 Howg srareoE n G Sronod deod
n =
(1 1 (2} 3y =3 4 3
85. A und B can do a wark Mdays: B and Cin 15 days; C and A in 20 days, The number of

duys required for 4
2% OO0 A,
Bodioy, o ok s 292 98 Hokie Sare
1y 3 2 20 (3) 16 4) 10
id at a profit of 20%. Had it been sold at a profit of 25%, it would have
more. The cost price of the arlicle (in rupees) is
B 20% el whmth, o8 SpHd 2% oreral ey 408 35 &
o Hihe. u Kb ) e (Braraned®)

@ 700 (3) 750 ) 800

16




